
 

ա) x = 0,99 + 0,01 

 0, 9 9 

+ 0, 0 1 

 1, 0 0 

 

x = 1,00 

բ) x = 10,48 + 4,52 

 1 0, 4 8 

+  4, 5 2 

 1 5, 0 0 

 

x = 15,00 

գ) x = 8,64 + 0 

 8, 6 4 

+ 0   

 8, 6 4 

 

x = 8,64 

դ) x = 20,3 + 0,45 

 2 0, 3  

+  0, 4 5 

 2 0, 7 5 

 

x = 20,75 

ե) x = 1 + 0,3 

 1  

+ 0, 3 



 1, 3 

 

x = 1,3 

զ) x = 17,4 + 11,2 

 1 7, 4 

+ 1 1, 2 

 2 8, 6 

 

x = 28,6 

 

 4,11 + 2,65 + 3,8 = 10,56 

 4, 1 1 

+ 2, 6 5 

 6, 7 6 

 

 6, 7 6 

+ 3, 8 0 

1 0, 5 6 

 

 

ա) 4,88 + 0,9 

 4, 8 8 

+ 0, 9  

 5, 7 8 

 

 

 



բ) 0,27 + 5,03 

 5, 0 3 

+ 0, 2 7 

 5, 3 0 

  

գ) 65,3 + 1,1  

 6 5, 3 

+  1, 1 

 6 6, 4 

 

դ) 1,21 + 9,85 

 9, 8 5 

+ 1, 2 1 

1 1, 0 6 

 

ե) 0,3 + 0,7 + 8,6 

 0, 7 

+ 0, 3 

 1, 0 

   

 8, 6 

+ 1, 0 

 9, 6 

 

զ) 0,94 + 2,19 + 1,2 

 2, 1 9 

+ 0, 9 4 

 3, 1 3 

 

 



 3, 1 3 

+ 1, 2  

 4, 3 3 

 

 
 

 3,72 ∙ 10 =  37,2 

 37,2 + 37,2 + 37,2 + 37,2 = 148,8 

 

 

 36,6 ∙ 10 =  366 

 24,2 ∶ 10 =  2,42 

 366 + 2,42 =  368,42 

 3 6 6   

+   2, 4 2 

 3 6 8, 4 2 

 

 368,42 ∙ 2 =  736,84 


